
Kopis freestyle 4inch  Assembly Guide
（HD Version）

D2D1

5. Landing gear(R)

7. Top plate
6. Screw M2*8  8pcs

8. Battery pad

11. Long arm

22. Aluminum standoffs
      M2*25   4pcs

4. Camera side panel

3. Camera cushion

12. Gummie  8pcs

13. clamp plate

10. Antenna holder

9. Receiver holder

6. Screw M2*8  16pcs
18. Socket cap screw M2*12  4pcs

17. Screw M3*8  5pcs

16. Socket cap screw M2*25  4pcs

15. Screw M2*18  4pcs

19. Bottom plate

21. Locknut M2    8pcs

14. Short arm

20. Aluminum standoffs
      M2*20   4pcs

23. Socket cap screw
      M2*6  4pcs

2. Buzzer holder

1. Landing gear(L)

CASE  1

CASE  2

DJI FPV holder DJI Antenna holder

※ Two ways for you to mount your camera
    onto the side panel：

※ Figures for your reference, for installing a DJI
FPV kit. Please download the corresponding STL
file from HolyBro website for printing the part you
need by yourself：

※ Antenna holder adapting to 3
    kinds of antenna：

※ Arm adapting to 2 kinds
    of motors：

①D1=12mm，for a motor
   with 12mm mounting hole；

②D2=9mm，for a motor with
   9mm mounting hole。

CADDX Antenna

TBS Immortal-T
 V2 Antenna

Antenna sleeve

Mount-naked Gopro

Camera cushion

Landing gear(L)

Landing gear(R)

Buzzer holder

Receiver holder

Antenna holder
（HD Version）

（M3 Pressure riveting nut）

        
P a g e | 1       www.holybro.com


